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®
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3596 +8.81%<30%
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4.54% 2,992,500 17% 0.7718%
9.18% 1.525,000 8% 0.7344%
11.75% 6,000,000 35% 4.1125%
8.87% 5,000,000 30% 2.643%
17,317,500 8. 6947 %
(&) (KD
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i
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_ AEBIT/EBIT
DOL = O AS/S

AEBIT/EBIT
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C 4. 15JNORWAY
10% 4.3,
4. 40, 4.3. 4.4

_ AEBIT/EBIT

DOL = AS/S
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100,000

3.1
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4.4 NORWAY
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100,000
70,000
10,000
5,000
3,000
88,000
EBIT 12,000
4.5 NORWAY
( )
( :0. 60/ ) 60.000 10,000
( :0.03/ ) 3,000 7,000
5,000
3,000
63,000 25,000
0. 63
4.6 NORWAY 10%
( )
110,000
(110,000 0. 60+10,000) 76,000
(110,000 0. 03+7,000) 10,300
5,000
3,000 94,300
EPIT 15,700
4.3 4.4 4.5
4. 40 . s
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4. 40
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_ AEBIT/EBIT
rS/S
:AEBIT/EBIT: ANEBIT
r EBIT - r
_ LS+ = V+rV)—FI] - (S—-V—-F)
EBIT - r
_ 1S—rV  (S—V)r
EBIT - r EBIT - r
sV
EBIT
boL 5=V C o
s 4.15
4. 41, 4.3 4.4
DOL — 100,01020’00603,()00:3_ .
4.15 1%, EBIT (1% X
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® - o
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1% LEBIT 3.1%, 2.1% o
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s o s (
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&) , EBIT
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. , EBIT
. 1.1
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ATC

AVC

DFL),
1 N

__AEPS/EPS_
DFL = AEBIT/EBIT
DFL.——

AEPS

EPS—

AEPS
EPS

AEBIT
EBIT

4.42,

°

EBIT
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X
X

~_nXAEPS  AEPS
~ nxXEPS  EPS

AEPS
" EPS °
C 4.16JL.S GS 1.6,
4. 42
LS I)Fllzzggigzz1.oo
GS Eﬁq,::zggggﬁ::1.364
4.7 LS GS
LS GS
( $10 1,000,000 500,000
( 8%) $ 5,000,000
$ 10,000,000 $ 10,000,000
EBIT 1,500,000 1,500,000
400,000
( 40%) 600,000 440,000
900,000 660,000
0. 90 1.32
EBIT 20% 20%
EBIT 1,800,000 1,800,000
400,000
720,000 560,000
1,080,000 840,000
1,08 1.68
0,18 0. 36
20% 27.3%
1. 00 1.346
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4.6, LS GS
( 10,000,000 DN s EBIT
( 1,500,000 )L,EBIT ( 20%),
:LS ,GS
o LS
EBIT ( 20%)>, DFL=
.00;  GS EBIT 20% s
27.-3% LS 7.3%, DFL =
. 36,
,GS
o o s LS GS
EBIT 209, LS DFL=1. 00,
20% 3 GS DFL=1. 364, GS
(2094 <1.364=>27.3%., LS
7.3—— EBIT . .,DFL
s - .GS
2> o 4.42 s
N
1 )
L
d
T
:n X AEPS
n <X EPS
s EBIT
n X AEPS=AEBIT(1—T) ( 4.43)
s EBIT . .
n X EPS=(EBIT—I—L)>(1—T)—d ( 4.44)
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4.43 4. 44 4.42
AEPS/EPS

DFL = BIT /EBIT
_nxXAEPS_ EBIT
T nxXEPS 7 AEBIT
- AEBIT(1—T) EBIT
T (EBIT—1—1)(1—T)—d " AEBIT
- EBIT
- d
EBIT —1—L— 1
DFL = EBIT q ( 4. 45)
EBIT —1—L—s
4.16
4. 45,
. 1,500,000
LS PFL=17500.000—0 10
. . 1,500,000 -
GS DFI‘*l,500,000—400,000*1'36
k4 ~ (
)9 o °
3.

. (DOL) (DFL)
( DCL) :
o . AEBIT/EBIT _ AEPS/EPS
DCL=DOL X DFL ===—2 ¢ AEBIT/EBIT
_ AEPS/EPS
— AS/S
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_ AEPS/EPS

DCL = AS/S ( 4.46)
DOL  DFL .
DCL = DOL X DFL = f:gl}f X EBI T =
EBIT —1—L—;—
S—V
EBIT— 1L —9_
1T
DCL = S—V 7| ( 4. 47)
EBIT —1—L—
C 4.172 NORWAY S=8000,000 ,
V=4,500,000 LEBIT EBIT=2,500,000 .,
1=1400,000 ., L =200,000 d=
500,000 T=50%,
4.47, :
DCL — 8,000,000—4,500,000 oo —1- 91
2,500,000—400,ooo—zoo,ooo—ﬁ
,DCL=1.94 : 1%,
(1% X1.94=)>1.94%
. 0.94%,
DCL.  DOL  DFL , DOL DFL
1. DCL ( ) .
C 4.18INORWAY 4.7
4. 47 NORWAY
.. 640,000—320,000
D(’I‘*zo,000—16,000—0*80'OO
DOL=5.0
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DFL=16.0

R . DOL DFL
DCL . 4.7 ) 1%,

EPS 8095, . 1%, EPS

80% ! .
4.18
4.8 NORWAY
1989 (1988.12.31~1989.12.31) (

1% 1%
640,000 646,000 633,600
320,000 323,200 316,800
300,000 300,000 300,000
EBIT 20,000 23,200 16,800
16,000 16,000 12,000

4,000 7,200 800

(50%) 2,000 3,600 400

2,000 3,600 400

1 [@D)

EBIT 16 (16)
EPS 80 (80)
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;. GS . s GS
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$ 1,000,000 1,000,000
80,000 80,000
20,000 20,000
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20,000 —10,000
2 o
C 4. 200NORWAY 4.10 .
NORWAY . 4.2
EEI’S OEPS
E m—=2x 4+ f3xLtiaxt_3z00 )
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¢ )

50%%)
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$ 8,000 %% $ 4. 00 $5.50

s m’s:\/%(Z—S)ZJF%(3—3)2+%(4—3)2

=0.82( )
1 . 1 - 1 .
E 1-])5:15><,*+3-5><*+05><,*:3-50( )
3 3 3
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o GS s
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0.3
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$ 500,000
$ 1,000,000 1,000,000
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E> 80,000 50,000
( 50%) 40,000 25,000
( 40,000 25,000
40,000 25,000 = _
100,000 040 50,000 0" °9
(6) 40,000 40,000
. 40,000 _ 40,000
(CV) 80,000 0" ° 50,000 -8
s t—oo  ,Dt o .
P
P()*KfL ( 4.49)
, 4.49
(r))s (EFPS)
K[, )
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0,—
0,——
0
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4.12 NORWAY

AL 100 (
7 $ 50000000 0 50%
$50)
B. 80 (
$ 50 $ 50000000 | $ 10000000 50%
$ 10000000 8%
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4.13 NORWAY EBIT EPS
EBIT EPS
$ 2000000 $ 2000000 $ 1000000 $1.00
$ 4000000 $ 4000000 $ 2000000 $ 2. 00
$ 8000000 $ 8000000 $ 4000000 $ 4. 00
$ 2000000 $ 1200000 $ 600000 $0.75
$ 4000000 $ 3200000 $ 1600000 $ 2. 00
$ 8000000 $ 7200000 $ 3600000 $4.50
EPS
) B
5 I
0 A
T S
3
L
R ] L.
o 1 2 3 4 5. 6 7 8
4
EBIT
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C 4. 22INORWAY
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4.12 4.13
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4.15
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1)

» 20

5,000,000
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)
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76. 25

99.7
50%

200,000

20%
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- 16

20000000
32%

10000000
8.2%

10000000
16.5%

10000000
16 %
50000000

e 164 -



4.44% 10% 0.444%
4.54% 17% 0.7781%
9.81% 8% 0.7344%
11.75% 35% 4.1125%
8.81% 30% 2.643%
8.6947%
_ 10000000 _ .,
VV"”5<)oooooo’20/O
_ 10000000 _
W“l50000000’20/0
_ 10000000 _ .,
*“50000000"20/6
3.2% 10% 1.3%
8.2% 20% 1. 6%
16.5% 20% 3.3%
16 % 20% 3.2%
9.4%
C 4. 23INORWAY
B, 4.16,
A . s A
4.14, 4.14, A
8.6947% .
, B . 4.15,
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Wi 50,000,000 40%%
B
( B
Do
, A.B
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’ Ao
A
A
4.23
4.23
)
[@D)
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c 166

9.4%,

EBIT —EPS

o



s 1 P
(@2D)
E
Ke=p.
K.—
Ei
P..
Di
Pi
(3
K _A_ 14E
"=V P, P,
K,—
A ., (O+E)
N — . (Pu PO
4.56 :
Ko _ THE KPu/A—T)+KP.
VU Pu+P. P..—+P.
B P.. P,
=KX m aroa— 1 TReXp, b,
P..
Pt P
C 4. 24INORWAY

’

100, 000

$ 250,000,

s

50%

( 4.5
( 4.5
( 4.5
P
*P..+Pnc

$ 1,000,000,

)

NORWAY
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& . — — $ 10. 00
$ 100,000 6.0% $ 10. 00
$ 200,000 6.0% $10.50
$ 300,000 6.5% $10. 75
$ 400,000 7.0% $11. 00
$ 500,000 8.0% $10. 50
$ 600,000 10. 0% $9.50
EBIT $ 250,000
X D
$250,000—T1
(50%) $ 125,000——%;
) 1
$125,0004—E?
EP _ =
S (n)
L 1
$ 115,000 ——
(KC): < (nP)
- P K. P..
Kv=Cp 5p) "2 T (p +p,) K
$100,000( 6%)
($1,000,000— $100,000=) % 900,000,
. $ 100. 000
$10. 00/ R (447§36—4-7)10,ooo .

(100,000—10,000=)>90,000
€D (Puo) -
P..= X
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=90,000X $10=900,000

(1 (Ko
1 ¢ S 0
$125.00— $125,000— 2100 OZOOXGA
K. = np = $ 900,000
=13.56%
(2)
P ><K1
P.+P. " 2
~ $100,000 6% ., s
_7$1,ooo,ooox 5 =10% X 30% =0.3%
(3)
P..
P, +p, K
_ $900,000 o o .
— 50061005 % 13- 5626 =906 X13. 56 % =12. 2045
4
P.. K, P..
P, +p, " 2 "p,+p, <Ke

=0.3%+12.204%=12.504%

P.. K P.c
K. e T K Ka

(P (Poo) PoiPe 2 | Pip K
$ 100,000 $ 900,000 13.56% 0.3 12.204% 12.504 %
$ 200,000 $ 840,000 14.17% 0.577% 11.445% 12.022%
$ 300,000 $ 752,000 15.32% 0.926% 10.953% 11.879%
$ 400,000 $ 660,060 16.82% 1.321% 10.473% 11.794%
$ 500,000 $ 525,000 20% 1.951% 10. 240% 12.195%
$ 600,000 $ 380,000 25% 3.061% 9.694% 12.755%

’ o
’ .
$ 400,000, $ 660,000 L,NORWAY
$11.00/ . , 11.8%.,
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s P
5.1
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,NORWAY
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Ax=AC (K=1.2,10)
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0 K —
AK:{
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( 5.9)
H .
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1
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— —_— 71 oo 71
P = (1+RRR) = ALl + ofpr + = + T RR— +
1
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P—A[l—— 31
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.(P/A.RRR.1) “
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(F/P,RRR,t)=(A/P,RRR,t) (F/A,RRR,t)

178 -

“ 10~ TFRRR’
A [1*(1+h)‘(1+RRR)7‘]
! RRR—h RRR=#h
] nA, RRR=h
1+RRR
6 5.1,
5.1
P F (F/P,RRR,t) (14+RRR)!
F P (P/F.RRR,t) (1+RRR) !
(1+RRR)!
A P (P/A,RRR,t) TIRRR)—1
(1+RRR)'RRR
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° 20% ’
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=4923. 8¢ )
S NPV=BPV —CPV=5477—4926. 8=514. 2( )
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